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" .H Problem 1 (6 points o
(5-/? e ) , axis which is conn_ectevdv to *V,' and on the

Consider two semi-infinite lines are placed on the Pos'llvcj';./l’-[,"ﬁwecn the two lines is 4 mm, find the
negative y-axis that is connected to ground. If the separatio =
electric field intensity at (3. 4, -2)
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Scanned by CamScanner



ry a line charge of (p1) C/m is located betwéé‘n_tw

R TR ‘ > 0 and b>0) cat : es. Find the force on a point ¢
A line x = a,y=b (whefe.a?,_;anes Intersecting at rlght angl . ch,
; _inﬁnileﬁground'e_d conductin

~located at (2a, b, 0)
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7 For the Bbundary

fRmyYe AT T surface charge distribution -
between two Magnetic media. If the boundary having @ ; et

LAY A’;;j-:‘_”ac‘cgrding t0 Dan - D1y = py, show that:

s‘ tanby ¢, H___gi___J
tand, ¢,| D,cosb
D an = D= Ps
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2 T
0P of side 4 m carrying 5 A of current as in the figure
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 Consider the tw.
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- of radius 2 ¢cm gpq { -1
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| mhef centered gt (10 & r¢s are Separalcd IOSe Cross section is illustrated in the figure below_ Each Wi
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a) Hat(] ries the retuat\'n- The wire centered at (0, 0) carries current § A while

m,
b) The foree b {“l, the twy €onducgpg aCUrrem. If all regions have p = pto; find:

€ONdUCtor [o0g, dn M, if fhe o infinitely long. M= M0
ed at the Origin is in\fJ‘VO‘ conductors became of zero radius, and e length of
NIty and the other one is 10 m. of t
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